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V+ 5V,V-=-15V,T,=-55 125

RES 10 bit

E E:=0,E0=0 -1/2 +1/2 LSB

Es Eo=0 -1 +1 LSB

Eo V,=0.0V -1 +1 LSB

Eob | V,=0.0V -1 +1 LSB

= E:=0,E0=0 -1/2 +1/2 LSB

a e T,=-55 125 -1 +1 LSB

O e | Ta=-55 125 -1 +1 LSB

O | T4=-55 125 -3 +3 LSB

V+ Ksvs+ 4 5V< V. 5.5 -1 +1 LSB
V_ sts- _16VS V_S -1 +1 LSB

-13.5V

Vise 15 -5.0 +5.0 v

VIA(S) 15 0.0 +10.0 vV

R 3.0 7.0 kQ

lo Vo=0.4V 3.0 mA

Loy Vo=2.4V 0.5 mA

lo; Vig=2V -40 +40 M A

I V=5V -100 +100 M A

Vi 2.0 v

Vi 0.8 v

Tt 15 25 (VIS

V+ l. V.=5V,V.=-15V 2 10 mA
V- I V.=5V,V.=-15V 7 15 mA
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